
Wie lautet die fehlende Zahl (bis 5.000)?

Aufgabe 1

1. 2 729 -     =  2 223

2. 3 098 -     =  628

3. 1 947 -     =  979

4. 3 464 -     =  883

5. 4 223 -     =  1 629

6. 2 901 -     =  1 423

7. 2 128 -     =  1 171

8. 3 783 -     =  2 761

9. 4 896 -     =  770

10. 1 232 -     =  249

Aufgabe 2

1. 4 045 -     =  2 603

2. 4 403 -     =  2 510

3. 3 273 -     =  2 135

4. 4 377 -     =  3 323

5. 2 330 -     =  155

6. 4 522 -     =  2 364

7. 4 119 -     =  1 656

8. 4 378 -     =  3 546

9. 3 612 -     =  2 994

10. 2 631 -     =  760

Aufgabe 3

1. 3 991 -     =  1 923

2. 4 308 -     =  850

3. 4 948 -     =  2 372

4. 3 991 -     =  975

5. 3 514 -     =  1 397

6. 4 135 -     =  2 187

7. 1 813 -     =  149

8. 3 007 -     =  2 248

9. 4 222 -     =  2 916

10. 2 862 -     =  1 707

Aufgabe 4

1. 3 747 -     =  2 545

2. 3 275 -     =  964

3. 3 510 -     =  2 367

4. 3 972 -     =  1 897

5. 1 854 -     =  855

6. 3 330 -     =  1 899

7. 3 448 -     =  1 223

8. 4 767 -     =  769

9. 3 148 -     =  105

10. 4 715 -     =  3 441
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Wie lautet die fehlende Zahl (bis 5.000)?
| ANTWORTEN

Aufgabe 1

1. 2 729 -  506  =  2 223

2. 3 098 -  2 470  =  628

3. 1 947 -  968  =  979

4. 3 464 -  2 581  =  883

5. 4 223 -  2 594  =  1 629

6. 2 901 -  1 478  =  1 423

7. 2 128 -  957  =  1 171

8. 3 783 -  1 022  =  2 761

9. 4 896 -  4 126  =  770

10. 1 232 -  983  =  249

Aufgabe 2

1. 4 045 -  1 442  =  2 603

2. 4 403 -  1 893  =  2 510

3. 3 273 -  1 138  =  2 135

4. 4 377 -  1 054  =  3 323

5. 2 330 -  2 175  =  155

6. 4 522 -  2 158  =  2 364

7. 4 119 -  2 463  =  1 656

8. 4 378 -  832  =  3 546

9. 3 612 -  618  =  2 994

10. 2 631 -  1 871  =  760

Aufgabe 3

1. 3 991 -  2 068  =  1 923

2. 4 308 -  3 458  =  850

3. 4 948 -  2 576  =  2 372

4. 3 991 -  3 016  =  975

5. 3 514 -  2 117  =  1 397

6. 4 135 -  1 948  =  2 187

7. 1 813 -  1 664  =  149

8. 3 007 -  759  =  2 248

9. 4 222 -  1 306  =  2 916

10. 2 862 -  1 155  =  1 707

Aufgabe 4

1. 3 747 -  1 202  =  2 545

2. 3 275 -  2 311  =  964

3. 3 510 -  1 143  =  2 367

4. 3 972 -  2 075  =  1 897

5. 1 854 -  999  =  855

6. 3 330 -  1 431  =  1 899

7. 3 448 -  2 225  =  1 223

8. 4 767 -  3 998  =  769

9. 3 148 -  3 043  =  105

10. 4 715 -  1 274  =  3 441
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